111101 4.5.notebook November 01, 2011

T See i
ps and 2 units up. 4
w1 12. Write the translation matrix. 2 14
e . 13. Find the coordinates of AD'E'F'. (=3, 6), E/(—2, —=3), F'(—=10, —4) : B‘, 8 '}
3,3 4. Graph the preimage and the image. See margin. N2
i raph the preimage and the image. (] AlaiA 2 4 —4 —4 4
“2{% i O For Exercises 15-17, use the following information. 7 7|4 o \ X -4 —4 4 4
u 2 The vertices of AABC are A(0, 2), B(1.5, —15), and C(~2.5, 0). The triangle is dilated 7 -
3-_3‘7'. P so that its perimeter is three times the original perimeter. F £ el ] 4 -4 -4 4]
: 15. Write the coordinates for AABC in a vertex matrix. E 7 8 30. —4 —4 4 4
16. Find the coordinates of the image AA'B'C". A'(0, 6), B'(4.5, —4.5), £'(—7.5, 0)
17. Graph AABC and AA'B'C'. See margin. 17. ARY 4 4 —4 -—
15 [D 1.5 —2.5] 31
2 -15 0] For Exercises 18-20, use the following information. -4 4 4 —
The vertices of AXYZ are X(1, —1), Y(2, —4), and Z(7, —1). The triangle is reflected ZIAN
over the line y = x. 1 2 7
. - . N cy o
18. Write the coordinates of AXYZ in a vertex matrix. [_1 —4 _1] S S %
19. Find the coordinates of AX'Y'Z! X'(—1,1), Y'(—4,2), Z'(-1,7) ~ NE
20. Graph AXYZ and AX'Y'Z.. See margin. SUEEA 32. The figures in
'y .
For Exercises 21-23, use the following information. Exercise 29 and
Parallelogram DEFG with D(2, 4), E(5, 4), F4, 1), and G(1, 1) is rotated 270° 20. Z] ¥ Exercise 30 have the
counterclockwise about the origin. 9 5 4 1 dinat but
21. Write the coordinates of the parallelogram in a vertex matrix. [4 41 1] 7 sa me coo r. Inates A u
22. (4, -2), 22. Find the coordinates of parallelogram D'E'F' G the flgul’e in Exermse
i;z: =9), F(1,-4), 2, Graph the preimage and the image. See margin. ' 31 has different
’ % 24. Triangle DEF with vertices D(~2, 2), E(3, 5), and F(5, —2) is translated so that olx % coordinates.
D' is at (1, —5). Find the coordinates of E' and F'. E'(6, —2), F'(8, —9) 'z
% 25. A triangle is rotated 90° counterclockwise about the origin. The coordinates \
of the vertices are ]'(—3, =5), K'(~2,7), and L'(1, 4). What were the coordil v
of the triangle in its original position? J(=5, 3), K(7, 2), L(4, —1) =
g Y | D, E
For Exercises 26-28, use quadrilateral QRST shown
at the right. /
26. 26. Write the vertex matrix. Multiply the vertex matrix G
[2 4 2 -3 by —1. ola T | X
3 -3 -5 -2 27. Graph the preimage and image. See right.
-1)= 28. What type of transformation does the graph
I:_g _; _g g:l represent? 180° rotation AmSNS
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